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1. Let’s say we are given the function s(t) = t (). 4. Use your calculator to answer the following
questions.

a) On the interval [0, 10], when does s(t) have a relative maximum?

4=2.03
€2 7915
b) On the interval [0, 10], when does s(t) have a relative a minimum?

1-0.%2 -
=4, 343

c) On the interval [0, 10], at which of the following times does s(t) have zeroes? Select all that apply.

’o A. t=0 B.t=1.707  C.4.843 @ E5731N

d)What does the table for this function look like at the following t-values?

t s(t)

0 Efoor

1 -3

2 -2 A
3 -2 83X
2 3, b5

e) On the interval [0, 10], when does |s(t)|=1? Select all that apply

.889 B.7.233 @.578 D. 8.023 @.898
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2. At what points do the graphs of £ (x) = 2cos (x) + sin (x) and g(X) = 4 cos(x) intersect on the interva
[0, 10]? Select all that apply.

A.(0,2) @(1.107, 1.789) @4.249, -1.789) @.39, 1.789) E. (8.318, 0)

S

3. A particle moves along the x-axis so that its velocity for [0,9] is given by v(t) = 4 cos?(t) — t. Consider only
the interval [0, 6]. ,

a) At t=1, is the particle moving to the right, left, or neither? Justify your answer.

At $ | e pacticleis moieg right ecause v (1) is‘aosﬂ‘w&

b) On which of the following intervals is the acceleration positive? Select only one.

A.(0,1.697) (B.(4.697, 3.015) C. (3.015, 3.502) D. (3.502, 4.839) E. (4,4.5)

¢) On what intervals from [0, 6] is the velocity of the particle positive? Justify your answer.

Velociky s positive when e geophof v(f) is above fhe gy |
(0 1-037) - (2476, 3.502)

d) OnWl(s) is the particle at rest on the interval [0, 6]? Justify your answer.

ok Hines
A{ to |-037| 2. ’47(9, and 3.50% Y parhdc 5 at test ML vlf) 1S 0,

f) At what times on [0, 6] is the acceleration of the particle zero? Justify your answer,

ALE= 1.697,3.015, and 4,239 Hhe accelecation is 2epe blc VIE) is netther
Unceesing. e &eefeas‘mg‘

'R
EUREI(_ A Practice Exam ny . 136
EUREK engage

kaMath ™ andlicensedbyGreatMinds.©2015 inds.eureka-math.org This file This work is licensed under a
?&iﬂﬁ?ﬁ?ﬂfgﬂ rl?dr; ‘f'g 1.3.0-08. ZOI?SH ' ' - " ‘@c) Creative Commons Attribution-NonCommercial-ShareAlike 3.0 Un orted license.




Wys COMMON CORE MATHEMATICS CURRICULUM

FinaI‘Exam Practice

Honors Pre-Calculus

C
A4

4. F ' : _ ‘
Co;ii plfnodbof time, the value of a certain stock market followed the model V = Ce*t where
are both constants. If the value (V) of the market doubled every 6 years, what are the

two constants? W
(( 2'2'; = Ce‘:m vkt (42)

l:eklé')
Inp)= bk

5. The decay of a specific isotope can be modeled by the function 4 = 60e ™ where k is a
constant. A is measured in kilograms and t is measured in years. When t=40 years, there was
20kg of isotope remaining. What is the value of k?

(0,29 20> 6o
i - kl4)

[ /

"450:

6. Using the graph of the position of a particle p(t) below, at what times is particle at the origin?
Select all that apply. | ‘
: |
(0.565, 1.526) | | \i
(0, 0) ; (1.122,0) ;
@) =0 &
B. t=0.565 |
(C=1.122
t=3.533 5} — —
E) t=4.835
10}
=15 i
(3.533,-16.766) |
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7. Simplify the following the logarithmic expression to a single logarithm.

a. log,(x) + 3log,(y)

]°j 2 (XY 3)

b. 2log,(x) — 3log, ()

iy, %)

c. 4[logz(x) +logs(y)] OR ‘ o () .
4 by, (xy) Ur(ojj K+ Ll/y> ) ®

1, () s (<) g, (")
I3 (Xq"q)

d. 3loga(x) +3log, () ~log; (6)

by (07 )+ oga (v oy (€)
by, (EY)

8. fff(x) = ¢*™*2 — 3, what is the zero of f(x)?
6 :gqxa In(z)-2= LFX

S

32e" B2 —x
“\(ﬂ: Xt

-
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9. A Ify =sip (gx), find the zeroes op the interval [0, 2m].

0=sin[3x) ?o{x: O+)xm J;TL— X T+
S](\—‘LO\"%LX (= E{odm) 2= (’\’HM‘!\)
=9
X20 nZ| X
X :‘% X:G)
10. A. If y = cos (gx), find the zeroes on the interval [0, 27r].
T+ - . _ ’
OZC%(%ﬂ s St dan gx= 8L o
tes (0\‘:%7( X= btlon nee AT 4 lba

‘ x= 4 )(/"ﬂ/(

11. A. If y = sin (27x), find the zeroes on the interval [0, 2].

0= Sia(2rx) 2= 0 12 Qi = TN
- 1
Sin ‘(0)31"7 X=n <o X< )J;n
A=0 n<| X= 2
Xz ﬂ;ca- - Xz 32_ &
K= Jeo by .
X=3 X2H x5 X326 z<~2” g yz
12. A. If y = cos (mx), find the zeroes on the interval [0, 2m]. = &j x) 2
= toy(y ) ™= §+17Fn K = %—"f-lrrn
t
s [o)=TW
s ( )=nx Xf:.{‘+in n-o )(:%{.Qn
0= -3
= Ji X= X
- .2
C cpoov R
x4 x4 i
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Evaluate the following Trig Expressions. Rationalize every denominator.

sec (m/3)= ) - - esc*(m/4)= L . ' ot (1/6) = \f;
sec (m/4) = ﬁ csc(n/3) = %E‘ cot (1/2) = 0

i

|
sec®(m/6) = % csc?(n/6) = 4 - cot?(0) = wndeF
sec (0)= | esc (n/2) = | cot (r/4) = |
sec?(m/2) = W\M‘: csc*(0)= WO/F ‘ cot? (r/3) =~ %—

] (.
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